Annales Mathematicae Silesianae **36** (2022), no. 2, 167-175 DOI: 10.2478/amsil-2022-0006

A FURTHER GENERALIZATION OF $\lim_{n\to\infty} \sqrt[n]{n!}/n = 1/e$

Reza Farhadian[®], Rafael Jakimczuk

Abstract. It is well-known, as follows from the Stirling's approximation $n! \sim \sqrt{2\pi n} (n/e)^n$, that $\sqrt[n]{n} \rightarrow 1/e$. A generalization of this limit is $(1^1s \cdot 2^2s \cdots n^ns)^{1/n}s^{s+1} \cdot n^{-1/(s+1)} \rightarrow e^{-1/(s+1)^2}$ which was established by N. Schaumberger in 1989 (see [8]). The aim of this work is to establish a new generalization that is in fact an improvement of Schaumberger's formula for a general sequence A_n of positive real numbers. All of the results are applied to some well-known sequences in mathematics, for example, for the prime numbers sequence and the sequence of perfect powers.

1. Introduction

One of the well-known consequences of the Stirling's approximation $n! \sim \sqrt{2\pi n} (n/e)^n$ is the following limit formula (see, e.g., [3], [5] and [7]):

$$\lim_{n \to \infty} \frac{\sqrt[n]{n!}}{n} = \frac{1}{e}.$$

In 1989, N. Schaumberger ([8]) established a generalized form of (1.1). He proved that for any $s \in \mathbb{N} \cup \{0\}$,

(1.2)
$$\lim_{n \to \infty} \frac{\left(1^{1^s} \cdot 2^{2^s} \cdots n^{n^s}\right)^{1/n^{s+1}}}{n^{1/(s+1)}} = e^{-1/(s+1)^2}.$$

Received: 08.07.2021. Accepted: 22.03.2022. Published online: 18.04.2022.

(2020) Mathematics Subject Classification: 11B83, 11B05, 40A20, 11Y60, 11A41.

Key words and phrases: limit formula, generalization, prime numbers, perfect powers.

©2022 The Author(s).

This is an Open Access article distributed under the terms of the Creative Commons Attribution License CC BY (http://creativecommons.org/licenses/by/4.0/).

Obviously, if one puts s=0 in limit formula (1.2), then limit formula (1.1) is obtained.

In this note, we aim to generalize the Schaumberger's formula for a general sequence A_n of positive real numbers. Thus, we will show that our generalization gives limit formulas (1.1) and (1.2) when $A_n = n$. Furthermore, we show that the new generalization applies to some well-known sequences in mathematics, for example, for the prime numbers sequence and the sequence of perfect powers.

2. Main results

In this section we aim to present our main results. First, let us consider the following lemma:

Lemma 2.1 ([6, page 332]). Let $\sum_{i=1}^{\infty} a_i$ and $\sum_{i=1}^{\infty} b_i$ be two series of positive terms such that $\frac{a_i}{b_i} \to 0$ and $\sum_{i=1}^{\infty} b_i$ is divergent. Then $\frac{\sum_{i=1}^{n} a_i}{\sum_{i=1}^{n} b_i} \to 0$.

THEOREM 2.2. Let A_n be a strictly increasing sequence of positive real numbers tending to infinity satisfying the asymptotic formula $A_n \sim A_{n+1}$ (i.e., $\lim_{n\to\infty} \frac{A_{n+1}}{A_n} = 1$), and let $d_n = A_{n+1} - A_n$. Then for any integer s > 0,

(2.1)
$$\frac{\left(\prod_{i=1}^{n-1} A_i^{d_i A_i^s}\right)^{1/A_n^{s+1}}}{A_n^{1/(s+1)}} \to e^{-1/(s+1)^2}$$

if and only if

(2.2)
$$\frac{\sum_{i=1}^{n-1} A_i^{s-1} d_i^2 \log A_i}{A_n^{s+1}} \to 0.$$

Hint: note that condition $A_n \sim A_{n+1}$ is equivalent to the condition $\frac{d_n}{A_n} \to 0$.

PROOF. We have the following formula:

(2.3)
$$\int x^s \log x \, dx = \frac{x^{s+1}}{s+1} \log x - \frac{x^{s+1}}{(s+1)^2} + c$$

and the following two formulas (use L'Hospital's rule)

(2.4)
$$\log(1+x) = x - \frac{1}{2}x^2 + o(x^2) \quad (x \to 0),$$

$$(2.5) (1+x)^{s+1} = 1 + (s+1)x + \frac{s(s+1)}{2}x^2 + o(x^2) (x \to 0).$$

Hence, (2.3), (2.4), and (2.5) give

$$\int_{A_{i}}^{A_{i+1}} x^{s} \log x \, dx = \frac{A_{i+1}^{s+1}}{s+1} \log A_{i+1} - \frac{A_{i+1}^{s+1}}{(s+1)^{2}} - \frac{A_{i}^{s+1}}{s+1} \log A_{i} + \frac{A_{i}^{s+1}}{(s+1)^{2}}$$

$$= \frac{A_{i}^{s+1}}{s+1} \log A_{i} \left(1 + \frac{d_{i}}{A_{i}}\right)^{s+1} + \frac{A_{i}^{s+1}}{s+1} \log \left(1 + \frac{d_{i}}{A_{i}}\right) \left(1 + \frac{d_{i}}{A_{i}}\right)^{s+1}$$

$$- \frac{A_{i}^{s+1}}{s+1} \log A_{i} + \frac{A_{i}^{s+1}}{(s+1)^{2}} - \frac{A_{i}^{s+1}}{(s+1)^{2}} \left(1 + \frac{d_{i}}{A_{i}}\right)^{s+1}$$

$$= A_{i}^{s} \log A_{i} \, d_{i} + \frac{s}{2} A_{i}^{s-1} \log A_{i} \, d_{i}^{2} + o\left(A_{i}^{s-1} \log A_{i} \, d_{i}^{2}\right).$$

$$(2.6)$$

From (2.6) and Lemma 2.1 we find that

$$\int_{1}^{A_{n}} x^{s} \log x \, dx = \frac{A_{n}^{s+1}}{s+1} \log A_{n} - \frac{A_{n}^{s+1}}{(s+1)^{2}} + \frac{1}{(s+1)^{2}}$$

$$= \int_{1}^{A_{1}} x^{s} \log x \, dx + \sum_{i=1}^{n-1} \int_{A_{i}}^{A_{i+1}} x^{s} \log x \, dx$$

$$= \int_{1}^{A_{1}} x^{s} \log x \, dx + \sum_{i=1}^{n-1} A_{i}^{s} \, d_{i} \log A_{i}$$

$$+ \left(\frac{s}{2} + o(1)\right) \sum_{i=1}^{n-1} A_{i}^{s-1} \, d_{i}^{2} \log A_{i},$$

that is,

$$(2.7) \quad \frac{\log A_n}{s+1} - \frac{1}{(s+1)^2} + \frac{1}{A_n^{s+1}} \frac{1}{(s+1)^2} = \frac{1}{A_n^{s+1}} \int_1^{A_1} x^s \log x \, dx + \frac{1}{A_n^{s+1}} \sum_{i=1}^{n-1} A_i^s \, d_i \log A_i + \left(\frac{s}{2} + o(1)\right) \frac{1}{A_n^{s+1}} \sum_{i=1}^{n-1} A_i^{s-1} \, d_i^2 \log A_i.$$

Equation (2.7) implies that the equation

$$\frac{1}{A_n^{s+1}} \sum_{i=1}^{n-1} A_i^{s-1} \ d_i^2 \log A_i = o(1)$$

and the equation

$$\frac{\log A_n}{s+1} - \frac{1}{(s+1)^2} + o(1) = \frac{1}{A_n^{s+1}} \sum_{i=1}^{n-1} A_i^s \ d_i \log A_i$$

are equivalent. On the other hand the last equation is equivalent to the equation

$$\frac{\left(\prod_{i=1}^{n-1} A_i^{d_i A_i^s}\right)^{1/A_n^{s+1}}}{A_i^{1/(s+1)}} = (1+o(1))e^{-1/(s+1)^2}.$$

This completes the proof.

In the next theorem we consider the case s = 0 for limit formula (2.1).

THEOREM 2.3. Let A_n be a strictly increasing sequence of positive real numbers tending to infinity satisfying the asymptotic formula $A_n \sim A_{n+1}$, and let $d_n = A_{n+1} - A_n$. Then

(2.8)
$$\frac{\left(\prod_{i=1}^{n-1} A_i^{d_i}\right)^{1/A_n}}{A_n} \to \frac{1}{e}.$$

PROOF. As in Theorem 2.2, by use of (2.3) (with s=0) and (2.4), we obtain (compare with (2.6))

(2.9)
$$\int_{A_i}^{A_{i+1}} \log x \, dx = d_i \log A_i + \frac{1}{2} \frac{d_i^2}{A_i} + o\left(\frac{d_i^2}{A_i}\right).$$

From (2.9) (as in Theorem 2.2) we obtain (compare with (2.7))

$$(2.10) \quad \log A_n - 1 + \frac{1}{A_n} = \frac{\int_1^{A_1} \log x \, dx}{A_n} + \frac{\sum_{i=1}^{n-1} d_i \log A_i}{A_n} + \frac{1}{2} \frac{\sum_{i=1}^{n-1} \frac{d_i^2}{A_i}}{A_n} + \frac{\sum_{i=1}^{n-1} o\left(\frac{d_i^2}{A_i}\right)}{A_n}.$$

Equation (2.10) implies that the equation

(2.11)
$$\frac{1}{2} \frac{\sum_{i=1}^{n-1} \frac{d_i^2}{A_i}}{A_n} + \frac{\sum_{i=1}^{n-1} o\left(\frac{d_i^2}{A_i}\right)}{A_n} = o(1),$$

and the equation

(2.12)
$$\log A_n - 1 = \frac{\sum_{i=1}^{n-1} d_i \log A_i}{A_n} + o(1)$$

are equivalent. That is, equation (2.11) holds if and only if equation (2.12) holds.

Now, equation (2.12) is equivalent to equation (2.8) and equation (2.11) is equivalent to the equation

(2.13)
$$\frac{\sum_{i=1}^{n-1} \frac{d_i^2}{A_i}}{A_n} = o(1).$$

Consider the two possible cases. That is, either the series of positive terms $\sum_{i=1}^{\infty} \frac{d_i^2}{A_i}$ converges or diverges. Now, $\frac{\frac{d_i^2}{A_i}}{d_i} = \frac{d_i}{A_i} \to 0$ and consequently by Lemma 2.1 we have

$$\frac{\sum_{i=1}^{n-1} \frac{d_i^2}{A_i}}{\sum_{i=1}^{n-1} d_i = A_n - A_1} \to 0,$$

that is, equation (2.13) holds. The theorem is proved.

Now, we shall prove the following theorem, which is based on a stronger condition.

Theorem 2.4. If in Theorem 2.2 the sequence A_n satisfies the stronger condition $\frac{d_n \log A_n}{A_n} \to 0$, then the limit formula (2.1) holds.

PROOF. The stronger condition can be written in the form

$$\frac{\frac{d_i^2 \log A_i}{A_i}}{d_i} \to 0.$$

Therefore by Lemma 2.1 we have

$$\frac{\sum_{i=1}^{n-1} \frac{d_i^2 \log A_i}{A_i}}{A_n} \to 0.$$

Finally

$$0 \le \frac{\sum_{i=1}^{n-1} A_i^{s-1} d_i^2 \log A_i}{A_n^{s+1}} \le \frac{\sum_{i=1}^{n-1} \frac{A_i^{s-1} d_i^2 \log A_i}{A_i^s}}{A_n} = \frac{\sum_{i=1}^{n-1} \frac{d_i^2 \log A_i}{A_i}}{A_n} \to 0,$$

that is, limit formula (2.2) and consequently limit formula (2.1) also holds. The theorem is proved.

We therefore prove the following theorem that establishes a generalization of the Schaumberger's limit formula (1.2).

THEOREM 2.5. Let A_n be a strictly increasing sequence of positive real numbers tending to infinity such that $\frac{d_n \log A_n}{A_n} \to 0$, where $d_n = A_{n+1} - A_n$. Then for any integer $s \ge 0$,

(2.14)
$$\frac{\left(\prod_{i=1}^{n} A_{i}^{d_{i} A_{i}^{s}}\right)^{1/A_{n}^{s+1}}}{A_{n}^{1/(s+1)}} \to e^{-1/(s+1)^{2}}.$$

PROOF. It is an immediate consequence of Theorem 2.2, Theorem 2.3 and Theorem 2.4. Since

$$\frac{\left(\prod_{i=1}^{n} A_{i}^{d_{i} A_{i}^{s}}\right)^{1/A_{n}^{s+1}}}{A_{n}^{1/(s+1)}} = \frac{\left(\prod_{i=1}^{n-1} A_{i}^{d_{i} A_{i}^{s}}\right)^{1/A_{n}^{s+1}}}{A_{n}^{1/(s+1)}} \left((A_{n})^{d_{n} A_{n}^{s}}\right)^{1/A_{n}^{s+1}}$$

$$= \frac{\left(\prod_{i=1}^{n-1} A_{i}^{d_{i} A_{i}^{s}}\right)^{1/A_{n}^{s+1}}}{A_{n}^{1/(s+1)}} e^{\frac{d_{n} \log A_{n}}{A_{n}}},$$

then (since $\frac{d_n \log A_n}{A_n} \to 0$)

$$\frac{\left(\prod_{i=1}^n A_i^{d_i A_i^s}\right)^{1/A_n^{s+1}}}{A_n^{1/(s+1)}} \sim \frac{\left(\prod_{i=1}^{n-1} A_i^{d_i A_i^s}\right)^{1/A_n^{s+1}}}{A_n^{1/(s+1)}}.$$

The theorem is proved.

It can be seen that Theorem 2.5 with $A_n = n$ gives Schaumberger's limit formula (1.2), since in this case we have $\frac{d_n \log A_n}{A_n} = \frac{\log n}{n} \to 0$. Thus, limit in (1.1) is also obtained.

In the following theorem, we show that if a sequence A_n satisfies the hypothesis of Theorem 2.5, then limit formula (2.14) also holds for the sequence A_n^k , where $k \in \mathbb{N}$.

THEOREM 2.6. Let A_n satisfies the hypothesis of Theorem 2.5. Then limit formula (2.14) holds for the sequence A_n^k , where $k \in \mathbb{N}$.

PROOF. We know from the hypothesis of Theorem 2.5 that A_n is a strictly increasing sequence of positive real numbers tending to infinity such that $\frac{d_n \log A_n}{A_n} \to 0$. We must show that sequence A_n^k ($\forall k \in \mathbb{N}$) also holds under the hypothesis of Theorem 2.5.

Clearly A_n^k ($\forall k \in \mathbb{N}$) is also a strictly increasing sequence of positive real numbers tending to infinity. Now, we have the following well-known identity:

$$a^{k} - b^{k} = (a - b) (a^{k-1} + a^{k-2}b + \dots + ab^{k-2} + b^{k-1}).$$

Therefore,

$$A_{n+1}^k - A_n^k = d_n \left(A_{n+1}^{k-1} + A_{n+1}^{k-2} A_n + \dots + A_{n+1} A_n^{k-2} + A_n^{k-1} \right)$$
$$= (1 + o(1))k d_n A_n^{k-1}$$

and consequently

$$\frac{\left(A_{n+1}^{k} - A_{n}^{k}\right)\log A_{n}^{k}}{A_{n}^{k}} = \frac{(1 + o(1))kd_{n}A_{n}^{k-1}k\log A_{n}}{A_{n}^{k}}$$
$$= \left((1 + o(1))k^{2}\frac{d_{n}\log A_{n}}{A_{n}}\right) \to 0.$$

Hence, the sequence A_n^k ($\forall k \in \mathbb{N}$) satisfies the hypothesis of Theorem 2.5, therefore limit formula (2.14) also holds for A_n^k . The theorem is proved.

Some well-known sequences follow the conditions of Theorem 2.5, consequently limit formula (2.14) applies to them. We show this in the following theorem and corollaries thereafter.

THEOREM 2.7. Let A_n be a strictly increasing sequence of positive real numbers tending to infinity and let $d_n = A_{n+1} - A_n$. If $d_n < cA_n^{\theta}$, where c and $0 < \theta < 1$ are constants, then limit formula (2.14) holds.

PROOF. Since A_n is a strictly increasing sequence of positive real numbers tending to infinity, we have immediately $\frac{d_n \log A_n}{A_n} \geq 0$ for $n \in \mathbb{N}$. Therefore

$$0 \le \frac{d_n \log A_n}{A_n} < \frac{cA_n^{\theta} \log A_n}{A_n} = \frac{c \log A_n}{A_n^{1-\theta}} \to 0,$$

which gives $\frac{d_n \log A_n}{A_n} \to 0$. Hence, by Theorem 2.5 the limit formula (2.14) holds. The theorem is proved.

COROLLARY 2.8. Limit (2.14) holds for the sequence p_n of prime numbers.

PROOF. It is an immediate consequence of Theorem 2.7, since it is well-known that (see, e.g., [1], [2]) there exist constants c and $0 < \theta < 1$ such that $d_n < cp_n^{\theta}$. The corollary is proved.

COROLLARY 2.9. Limit formula (2.14) holds for any sequence A_n such that $d_n = A_{n+1} - A_n$ is bounded. For example, for any linear sequence $A_n = an + b$, where a > 0 and b is integer. Also, limit formula (2.14) holds for any sequence in the form $A_n = an^b$, where a and b are positive integers, since $\log A_n \sim b \log n$ and by the binomial formula $d_n \sim abn^{b-1}$. Another example is the sequence P_n of perfect powers, since (see [4]) $P_n \sim n^2$, $\log P_n \sim 2 \log n$ and $d_n = P_{n+1} - P_n < 2n$.

PROOF. Use Theorem 2.7. \Box

Acknowledgment. The authors would like to thank the Editor-in-Chief and the anonymous reviewers for their valuable suggestions.

References

- [1] R.C. Baker and G. Harman, *The difference between consecutive primes*, Proc. London Math. Soc. **72** (1996), 261–280.
- [2] R.C. Baker, G. Harman, and J. Pintz, The difference between consecutive primes. II, Proc. London Math. Soc. 83 (2001), 532–562.
- [3] F. Burk, S.K. Goel, and D.M. Rodriguez, *Using Riemann sums in evaluating a familiar limit*, College Math. J. **17** (1986), 170–171.
- [4] R. Jakimczuk, Some results on the difference between consecutive perfect powers, Gulf J. Math. 3 (2015), 9–32.
- [5] B.J. McCartin, e: The master of all, Math. Intelligencer 28 (2006), 10-21.
- [6] J. Rey Pastor, P. Pi Calleja, and C.A. Trejo, Análisis Matemático, Vol. 1, Editorial Kapelusz, Buenos Aires, 1969.

- [7] N. Schaumberger, Alternate approaches to two familiar results, College Math. J. 15 (1984), 422–423.
- [8] N. Schaumberger, A generalization of $\lim_{n\to\infty} \sqrt[n]{n!}/n = e^{-1}$, College Math. J. **20** (1989), 416–418.

REZA FARHADIAN
DEPARTMENT OF STATISTICS
RAZI UNIVERSITY
KERMANSHAH
IRAN
e-mail: farhadian.reza@yahoo.com

RAFAEL JAKIMCZUK
DIVISIÓN MATEMÁTICA
UNIVERSIDAD NACIONAL DE LUJÁN
LUJÁN, BUENOS AIRES
REPÚBLICA ARGENTINA
e-mail: jakimczu@mail.unlu.edu.ar